I TIRI0'T YR ORI XYIXM X212 ndon WA AT TIHh My 0BT

21.8.2
95a (D25y33 Ay2wo 1K) 2 96a (X171 KIPT PNTIN IN7)

7=:35 mpw 17292 R2 RIN IV DR DYY KD 10Y 1YY DR:DYY DHY Y PR Poya nn IR 12U YT DYH YR HRY ) .7

I wYyaa nywa - if the YR was neglectful while the owner was working with him; dispute 8327/8nR 29
a  I1:liable — since 8% w771 Rpn but not 119 4% ( >rules of YR can be applied back to w"v, but not all the way back to n"v)
i Therefore: there is no exemption of 1y 191 in re: n”w; nY'wa inferred from n"v via v"p
b 2:exempt —since 18 2551 17289 W11 RIpn (D rules of YRV can be be applied to n"w as well)
i Therefore: exemption of 1y 51 applies to n"v as well
¢ Challenge: our mwn omits N"® from the exemption of 1My VHya
i Counter: it also omits v"v —
ii  Rather: it only mentions the case of the explicit exemption (9R1)
1 Challenge: X132 which lists 1279 along w/ YR & omits YR — & allows for owner to be engaged 9nR DIpnpa NarYN2
(a) Answerl: follows n™, who equates 121w with n"v
(b) Answer2: (if we prefer to have xn»12 ono follow »") follows 9, as per MaR 72 117’s inversion (121W=n"Y)
II  xmnn’v's ruling re: exemption of 1y Yy
a  Unless: the owner is plowing with the ox itself or leading the donkey itself, the YR is liable if it dies
i And:the owner must have been with the animal from the moment of borrowing until the injury or death
ii  Inference: he maintains that ymy Yy applies to the entire passage
1 Challenge (827): X1 (above) — even if the owner isn’t with the animal, he is exempt
(a) Answer: means — with animal at work, but animal is a few steps behind him
(b) Challenge: >0 of that xn»1a (parallel to Xa*0 of our nwn) has owner “atop” animal > Xw» is NINR NIRYN
(c) Defense: both are narn nmR, each teaches a context-appropriate w11n
(i) A~wTeven though the owner isn’t atop the animal, since he’s engaged in the same nax%n — exempt
(ii) ~970 even though the owner is atop the animal, since he came after the nxv, liable
(d) However: wy1n is only meaningful if Xw is nInR nar5N
(e) Additionally: min»1, interpreting v. 1 - if owner was there at N8, doesn’t need to be there at time of injury
2 Rejection: of R11nn "1 — (in both — owner need not be there at time of injury/death, nor working in same nax%n)
II xam »arinterpreting v. 1 according to 1y “1/mwr
a  »aruses MWR 7's approach, understanding all terms in the verse as indispensable:
iy pr vYya - liable; implying the owner’s absence for the full gamut - if the owner was there for any part, exempt
1 Then: my vYya ok — implying that the owner had been there for the entire process =if gone for any, liable
2 Conclusion: if the owner was there at time of nYRw, no liability even if gone at time of injury; not the inverse
b Rayuses jmy "v's approach, understanding each term as independently significant
i obw RY My YYYa oR - implying that the owner was there for any part of the process, but
ii Y vYya pr —implying that the owner was gone for any part of the process
1 Conclusion: if the owner was there at time of n9Rw, no liability even if gone at time of injury; not the inverse
¢ Challenge: why not invert (in both) the application, and require owner to be there at time of injury
i Answer: n9RW is more significant, as that generates the essential liability of care for the animal
ii WX Y7 DYn WR — borrowing “away from” owner generates liability
1 Question: if so, why write 1Y PR ¥5»3, MY VPHya?
2 Answer: without those phrases, we would have understood 1ny7 oyn as the colloquy of the nmn - 5"np
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